4500# VSD 24V DRIVE TRAIN

EXPLODED VIEW
P/N 511-45014-00

o8
-

Instruction PPN 611-45014-00
Issue: 04/26/04

17

[alelog” <
| 00/ 20le
@ 10@
REAIIA 2 63 : /@
= 6@ oy O
| Fﬂl LS
22 -

Sheet 1 of 3

30



4500# VSD 24V DRIVE TRAIN
EXPLODED VIEW
P/N 511-45014-00 O

o

Instruction PPN 611-45014-00 <
Issue; 04/26/04 Sheet 2 of 3



4500# VSD 24V DRIVE TRAIN

EXPLODED VIEW
P/N 511-45014-00

PART NUMBER

NO.

O© 00 NO Ol WN B

NNRNRNNNMNNNNNRRRRRRERRERR
OO ~NOUDNWNROOOWM~NOUNWNIEREO

Issue: 04/26/04

- 001-41584-00
- 001-70105-00 - - - - -
- 001-71013-00 - - - - -
- 001-71055-00 - - - -
- 001-71067-00 - - - - -
- 001-71360-00 - - - - -
- 001-73094-00 - - - - -
- 001-73753-00 - - - - -
- 001-73895-00 - - - - -
- 001-75001-00 - - - - -
- 002-04316-00 - - - - -
- 003-02301-00 - - - - -
- 007-03907-00 - - - - -
- 007-03910-00 - - - - -
- 007-03940-00 - - - - -
- 007-05056-00 - - - -
- 007-05071-00 - - - - -
- 007-05094-00 - - - - -
- 007-05096-00 - - - - -
- 007-05170-00 - - - - -
- 007-05171-00 - - - - -
- 007-05172-00 - - - -
- 007-05178-00 - - - -
- 007-05179-00 - - - - -
- 007-05180-00 - - - -
- 007-05181-00 - - - -
- 007-05182-00 - - - - -
- 007-05183-00 - - - -
- 007-05184-00 - - - -

Q

111-00304-00 - - - -
Instruction PPN 611-45014-00

R R RPRNRPRRPRRPRRPRRPRRRRRRRERNRRPRRRAEMMNMNMOMNDMNDMNOOD-SNLDN

DESCRIPTION

- RVET-NUT, 3/8-16

- HHCS, 3/8-16 x 1" ss

- FLAT WASHER 1/4" ss

- LOCK WASHER, #6 SPUT ss

- LOCK WASHER, 3/8" SPUT ss

- SMIS, #6-32 x3/8" s

- HHSMIS, # 10 x3/8" ss

- BHCS, 1/4-20 x5/8" ss

- FHCS, 1/4-28 x 1/2" ss

- NUT, NYLOCK 1/4-20 ALUMINUM

- COUPLERHOUSING - 24V VSD

- GROMMET - 1 1/16"x 3/4" ID

- 24V DC GEARMOTOR (20:1)

- 24V DC ELECTRC BRAKE

- SOLENOID - 24V GEARMOTOR

- WIRED REMOTE

- 5A CIRCUIT BREAKER

- COVERPLUG

- 3/16" SQUARE X 1 1/4" KEY

- LOVEJOY COUPLER- 3/4" BORE

- 10A CIRCUIT BREAKER

- 40A AUTO RESET CIRCUIT BREAKER
- DRVE TRAIN CHASS'S

- DRVE TRAIN COVER

- 24V BATTERY POWER CABLE (63")

- 24V BATTERY INTERCONNECT CABLE (32")
- VSD SOLENOID STRAP (END)

- VSD SOLENOID STRAP (SDE)

- VSD SOLENOID STRAP (SDE 3 HOLE)
- WIRE HARNESS - 4500 VSD 24V

Sheet 3 of 3

8



